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s |sommmsmooonttz | 208 | sgen | & 5.4 00 . 313 2 0.7 a a
T 14. 4 33.1 <1 0.5 <1 <1
o)1 etk e Bt | o8 | sgen | om | B 2. 52.1 2 05 a a
T 2.8 32.5 2 0.9 <1 <1
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7 S 1 492000m T ZE ) ogpsn | o= 6o %0 . 28.8 a 0.3 < <«
T 15.2 33.0 1 0.2 <1 <1
8 REJI 7K 1000m et 3T fg 8H2H i 11.5 184 2 6. 2; Z i g‘ g : :
TR R AR E3E 0' 5 31. 8 1 0' 5 <1 <1
9 & ) 119 1000m {3 = 8H2H i 10.0 : 6. : :
T 9.0 33.2 10 1.6 <1 <1
10 AF NI 1000m e 3T =8 8H5H i 10.8 0.5 7. 28.9 ! 0.7 <l <l
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T 10. 4 31.8 1 0.6 <1 <1
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1|4 A b X b 2 ek SIRMIE 9 2000m 5 3T 8H6H 2 15. 4 5 72.7 b <10 <10 -
2 #)1 TviEIEk TS M XA X 1B o s 3T 8HG6H = 3.8 3 75.8 1% <10 <10 -
3| FE B i X Hb S ek BB ##92000m AT 8ATH = 20. 4 5 73.9 b7 <10 11 11
A EETTE (B BB TR BT )PP 1000m A T SHTH & 8.9 5 73.8 b <10 39 39
5% HseiEs I ##91000m A 3T 8HATH = 11.0 5 75.6 b7 <10 11 11
6 JINE I 1000m A3 8H8H & 11.1 5 77.9 h <10 36 36
7 75 7)1 #92000m ) 30 8H8H E 16. 2 5 76. 6 1 <10 140 140
8 e R8P 1000m A 7T 8H2H i, 11.5 8 72.1 1% 11 160 171
9 PRI HL T & )19 1000m A 3T 8HA2H i 10.0 8 67.9 b7 27 410 437
10 K1 57 1000mf 36T 8H5H & 10.8 8 4.7 w <10 51 51
11 e S TAT 11 {559 1000m A+t 3T 8H5H 5] 11.4 10 74.2 12 <10 48 48
12 L N KA 1 {549 1000m s 3 8H5H i3 10. 7 8 74.0 b <10 32 32
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15| 8 7 IR 1 P 179 1000m A 3T 8H6H i 18.3 10 70.6 b <10 51 51
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